&F0 265y i = X 15
I RKETH 4 - R EARSPAT ERBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
| MR £ P DU —foti 2.0 4.2f  —|  —|  —| -
RSO KR L1k 3.6 650 .70 .7 - —
TR fr P M X —l 2. 800 4.8 |  —|  —| —
RIS K
1 EE 8B, RHEZEFE/NBRB L1|#h .4 7.8 7.7 7.7 —| —
2 LFELIA o i Li|psob 7.ed 7.h .7 | —
ZRM Fo% P X S 6t 2.8 480 | | | -
ERRLISh O KR
1 REZ&EE/BREN L1 6 4F 7.8F 7.7 7.7 —|  —
2 LSO K L1 4k 788 .70 7.7 —| —
Y A ) R —l 2. 80 4.8 | —|  —| —
LRELIA D RS
1 REREENBR, B LERN LifF4a7F rneF .79 7. - —
2 _ERLEA iR L1|h 4 7ff 2.4 7.0 7.7 - —
| RET = P —el 2.8 4.8  — -  — —
ERELIS O K L1|h 44f 7.4 7.7/0 7.7 —|  —
ik B3 5 F i Xk —l 2. 860 4.7 —-| - - -
LFEELS oD R t5
1 RGERAEMABRK, ARLERY L1 4.4F 7,30 7.9 7.7 —  —
2 EELS o MR L1 agb e tp b . - —
&R Fot Y b R s — 2. 880 4.7 —| - - -
EFRLA o I
1 [EE 8 SR L1|#h 6.5 7.8 7.7 7.7 —| —
2 LERLIS o s LU 4 4b 7.4 7.790h 7.7~ —
U| B+l =353 p:iN —l 2.8 4.2 | —|  —| —
ERELA o K IE
1 FoEZEmABRRIBY LA o4 7 7.3 7.8 7.8 —|  —
2 kLSO L1 45 679 7.9 7.7 —|  —




&F0 265y i = X °H
I RKETH 4 - R EARSPAT ERBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
L Tk £ P DU —foti 2.8 47—  —|  —| -
LIS D Ktk
1 RoERRFEHRny L1 4 dff 7.9 7.70p 7.7 —|  —
2 _EILISN o HE, L1 49 6.8F .90 7.7, —|  —
T FEE FE i X I —l 2.8 4.1 | —|  —|  —
LR DR Lifh 4o 7 7.7 7.7 | —
7zl B FE2 F X 3 —t oo gt 47— | - —
ERRLISh O KR
1 [EiE8 BB L2 5 4F 760 7.7 7.7 | —
2 BEZTAEARL, BHERN L2 488 7.6 7.7 7.7 — —
3 hEEA o i L2 49 .60 7.9 7.7 — —
WIS 5 A M IR el 2.8t 47 | | | —
EFRLIA O K
1 REZEW/NBM&, HPILER, L2 5.4 7.4 7.7 7.0 —| -
2 LRELIA o Mt L2|F 4.5 7.8F 7.7#8 7.7 - -
J\ET = F i D —l 2. 480 4.2 —| - - —
RFRRLIA D K ek L1l 3gfe6qf 779077 — -
Uy H% = PR I —l 2.7 4.2 | —| - -
LRSI L1 s.ef 6.5/F 7.7 7.1 —| —
A =i = PR Ik —l 2. 80 4.8 —| - - -
ERRLAA DK LU af 7.9 r.p g~ —
K HHMH £ P L U —ft 2. T 4.2l | |~ —
EREEAA O KIS L1k 3.6 650 .70 .7 - —




